122.6 2674 122.6
h z ==
M4 THREAD 2040 2
MAX:SCREW DEPTH=6mm -
X8
521.1(Foam Gasket) 37.9
516.0(Edge Of Screen) 254
LY 476 4(Active Area) /@S‘ 189 |
] B
1189 18.9 %
—_ E\ -~
=l < Bl o
3 23z =
53 LD R
1IRE 2= 3
S 2SS s
o @ N : :‘) o
® @
28 =
512.6(Install Size)
204.0 2
\ _\\s i
DC/I2V. VGA HDMI DP OSD USB

POWER

ALL DIMENSIONS ARE IN MILLIMETERS

© 2O
© =0

P
=]
=
S
=]
=]
Z

.
N

TITLE: RTL226-LRPCZ04A-UHPDA

MAR REVISED CONTENTS DATE | SIGNATURE
206.3 100.0 206.3

i ® = e D= ® :

® / TelL ) % @
oooooooo g E 60000000 e
00000000 00000000 o
oooooooooooooooo —

00000000 00000000
(e
® ]
[
—
o g
USB___0SD DP___HDMI \,‘(,,'\\ DC/2V
=]

LTe of J o0
[
\ I I / —

g @

*1‘ ® [DJ F="T ) OL@ IDJ @ ,

VESA:M4 THREAD
MAX:SCREW DEPTH=6mm
X4

GENEE. ouch GeneralTouch Co.,Ltd.
SPEC or MATERIAL REMARK | External Dimensions |321.1*316.1%37.1] Anti-Glare YOI N | DESIGNER:
UNIT‘ DATE Active Area 476.4*268.11 | DustPro YO N ZhouRui
mm | 20191016 Glass Thickness 2mm

Projection: Silk Print Color | Black

Mounting Vesa [ Bracket o} CHECKED:
WangZhengHua

SHEET 1 OF 3 NOTES

RVE: 1.0 ‘SCALE:I:] P-CAP | [SAW APPOVED:
Tolerance: +1.0mm Non-Touch




226.0

Mounting Bracket Adjustment
Range 12.5mn (X4 Places)

TITLE: RTL226-LRPCZ04A-UHPDA

")

226.0

226.0
564.6
542.6(Install Size)
521.1(Foam Gasket)
516.0(Edge Of Screen)
476.4(Active Area)
250.0
220.0
200.0 Adjustment Range 4.5 to 12.5
e — e — i
\
] |
| { | Bl
| ! | S 2|8
! | ! <|a é@ 2]
R — R 9238383 3
| ‘ | §H82 8L E S
1 0 S| S
| | || AR
| \ i Y
$ | e
i
{ \ ]
?4.3Hole X8 M4 THREAD X8

POWER

ALL DIMENSIONS ARE IN MILLIMETERS

OSD

3216

MAR REVISED CONTENTS DATE |SIGNATURE
5334
526.6
2133 100.0 2133
[0
Ly
§ / ( Tl N
o b |
) ocoooo0000 ol o ocoo0o0o0000 (-] —
66600000 j i 66000000 ]
o g
o —
J N o
lm—%@\m
Qm oI J o
°l g
LA ¢ |l§ I [° ) 3
{ o 05
VESA:M4 THREAD
MAX:SCREW DEPTH=6mm
X4
GENEE. ouch GeneralTouch Co.,Ltd.
SPEC or MATERIAL REMARK | External Dimensions |364.6*359.6*45 | Anti-Glare YOI N | DESIGNER:
UNIT‘ DATE Active Area 476.4*268.11 | DustPro YO N ZhouRui
mm | 20191016 Glass Thickness 2mm
Projection: Silk Print Color | Black
Mounting Vesa [ Bracket o} CHECKED:
WangZhengHua
SHEET 2 OF 3 NOTES
RVE: 1.0 ‘SCALE: 111 P-CAP | [SAW APPOVED:
Tolerance: +1.0mm Non-Touch




564.6
5426
220.0
200.0

200.0
220.0
337.6
359.6

oo

©o—

1
CLEARANCE HOLE FOR M4 SCREW X8

L2
M4 THREADED HOLE X8

542 % . .
+0. -
519005 q;) A
220.0"A" <
200.0"B"

I ‘

RECOMMENDED CUSTOMER PANEL CUT-OUT

CHOOSE ONE :

"A"=M4 THREADED HOLES OR M CONCELED
HEAD THREADED STUDS WITH NUTS

"B"=CLEARANCE HOLES FOR M4 SCREWS

2000'B"
s
0.5
31407
1116

[

INSTALLATION NOTES:

1.ATTACH BRACKET | TO TOUCHMONITOR(ALL FOUR SIDES) WITH LOW PROFILE SCREWS (INCLUDED)

2. ATTACH BRACKET 3 TO CUSTOMER PANEL PRE CUT-OUT DRAWING (ALL FOR SIDES)
3.ATTACH BRACKET 2 TO BRACKET 3 ON ALL FOUR SIDES WITH M HEX HEAD SCREWS
4.ADJUST DEPTH OF BRACKET 2 SO MONITOR IS FLUSH WITH CUSTOMER PANEL
5.PLACE TOUCHMONITOR INTO CUSTOMER PANEL OPENING

SEE DETAIL A

45.0

TITLE: RTL226-LRPCZ04A-UHPDA

MARI

REVISED CONTENTS

DATE

SIGNATURE

A

49 (ADJUSTMENT RANGE=4.9 TO 12.5)

-/
e

il

7

=
<t

TOUCHMONITOR

(INCLUDED)

6.SECURE TOUCHMONITOR TO BRACKET 2 FROM BEHIND WITH M4 HEX HEAD SCEWS (INCLUDED)

ALL DIMENSIONS ARE IN MILLIMETERS

BRACKET |

CUSTOMER PANEL (NO

T INCUDED)

GENERAL,

GeneralTouch Co.,Ltd.

SPEC or MATERIAL REMARK | External Dimensions |364.6*359.6*45 | Anti-Glare YOI N | DESIGNER:
UNIT‘ DATE Active Area 476.4*268.11 | DustPro YO N ZhouRui
mm | 20191016 Glass Thickness 2mm
Projection: Silk Print Color | Black

Mounting Vesa [ Bracket o} CHECKED:

WangZhengHua

SHEET 3 OF 3 NOTES
RVE: 1.0 ‘SCALE:I:] P-CAP | [SAW APPOVED:
Tolerance: +1.0mm Non-Touch




